1. (25 points) The isotope Iodine 131 is used to destroy tissue in an overactive thyroid gland. It has a half-life of 8.04 days. If a hospital receives a shipment of 600 mg of Iodine 131, how much of the isotope will be left after 30 days?

$$I(t) = Chk^{t}$$

$$I(0) = 600 = C(h)^{o}$$

$$C = 600$$

$$I(t) = 600 (h)^{k^{t}}$$

$$\frac{600}{2} = 600 (h)^{s}$$

$$\frac{1}{2} = \frac{600}{10} (h)^{s}$$

$$I(t) = 600 (h)^{s}$$

2. (25 points) A 100-gal tank initially contains 40 gal of pure water. Sugar-water solution containing 2 lb of sugar for each gallon of water begins entering the tank at a rate of 4 gal/min. After 10 minutes, a drain is opened at the bottom of the tank, allowing the sugar-water solution to leave the tank at a rate of 2 gal/min. What is the sugar content (lb) in the tank at the precise moment that the tank is full of sugar-water solution?

(lb) in the tank at the precise moment that the tank is full of sugar-water solution? V(t)=40+4t First 10 mins) y'= rate in-rateout 4=2(4)=8 Jay=188+ 4(4)=8++C y(0)=0=86)+C y(+)=8+ / 4(10)=80 After lomins) y'=rate in -rate out
y'=2(4)-2(1/16) V(+)=80+2+ 100=80+26 t=10 (=tank full A = 8 - 5A y'+ wott = 8 M(t)= eStoted= emluotel = 40+t (40+t)(4+ 40+t) = 8(40+t) (40+t) y = 5(320+8t)dt (40++)y=320++4+2+C y= 4+2+320t + C/10+t 4(10) = 4(100)+320(10) (y(10)= 72 165

3. (25 points) Solve the following differential equation:

$$\frac{\partial P}{\partial y} = 2y - x \neq \frac{\partial Q}{\partial x} = y \quad \text{Not exact.}$$

$$h = \frac{1}{Q} \left(\frac{\partial P}{\partial y} - \frac{\partial Q}{\partial x} \right) = \frac{1}{xy - 1} (2y - x - y)$$

$$= \frac{1}{xy - 1}$$

$$Q = \frac{1}{P} \left(\frac{\partial Q}{\partial x} - \frac{\partial P}{\partial x} \right) = \frac{1}{y^2 - xy} (y - 2y + x)$$

$$= \frac{1}{y(y - x)} = \frac{1}{y}$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dx + (x - y) dy = Q$$

$$(y - x) dx + (x - y) dx +$$

Great 2061
25/25

4. (25 points) Solve the following differential equation:

$$(2xe^{\frac{y}{2}}-y)dx+xdy=0$$

$$dy=vdx+xdy=0$$
Homogenous.
$$(2xe^{\frac{y}{2}}-y)dx+xdy=0$$

$$(2xe^{y}-y)dx+xdy=0$$

$$(2xe^{y}-y)dx+xdy=0$$

$$(2e^{y}-y)dx+(vdx+xdy)=0$$

$$(2e^{y}-y)dx+(vdx+xdy)=0$$

$$(2e^{y}-x+y)dx+xdy=0$$

$$2e^{y}dx+xdy=0$$

$$x2e^{y}-x+y=0$$

$$x2e^{y}-x+y=0$$